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QUESTION 1

You have a deployment of System Center Configuration Manager (Current Branch). The domain contains the users
shown in the following table. 

Support Techs is a member of the Administrators group on each client computer. Help Desk Users is a member of the
Power Users group on each client computer. 

You need to deploy Configuration Manager agents by using a client push installation. The solution must use the
principle of least privilege. 

Which user should you configure as the client push installation account? 

A. User1 

B. User2 

C. User3 

D. User4 

Correct Answer: D 

References: https://technet.microsoft.com/en-us/library/bb632779.aspx 

 

QUESTION 2

You have a deployment of System Center Configuration Manager (Current Branch). 

You plan to implement hybrid mobile device management (MDM). 

Which cloud service should you provision? 

A. Microsoft Operations Manager Suite (OMS) 

B. Microsoft Store for Business 

C. Microsoft Intune 

D. Microsoft Azure 
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Correct Answer: C 

References: https://docs.microsoft.com/en-us/sccm/mdm/deploy-use/setup-hybrid-mdm 

 

QUESTION 3

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution that might meet the stated goals. Some question sets might have more than one correct solution,
while 

others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not
appear in the review screen. 

Your company uses a network ID of 10.0.0.0/8. 

The company opens a new office that uses a network ID of 10.5.0.0/16. The office has three floors. Each floor has a
VLAN. The network ID of each VLAN is 10.5.10.0/24, 10.5.20.0/24, and 10.5.30.0/24. 

You create a distribution point for the new office. 

You plan to distribute content to clients in the new office from the new distribution point. 

You need to create a boundary for the new office. 

Solution: Create an IP subnet boundary for 10.5.0.0/16. 

Does this meet the goal? 

A. Yes 

B. No 

Correct Answer: A 

References: https://docs.microsoft.com/en-us/sccm/core/servers/deploy/configure/boundaries 

 

QUESTION 4

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution that might meet the stated goals. Some question sets might have more than one correct solution,
while 

others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not
appear in the review screen. 

Your company has client computers that run either the 32-bit version of Windows 8 or the 64-bit version of Windows 10. 

You need to install a line-of-business application to the computers. The 64-bit version of the application must be
installed on the Windows 10 computers. 
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Solution: Create one application that has two deployment types. Configure a requirement for each deployment type. 

Does this meet the goal? 

A. Yes 

B. No 

Correct Answer: A 

References: https://blogs.technet.microsoft.com/canitpro/2013/06/02/step-by-step-managing-multiple-versions-of-the-
same-application-via-system-center-configuration-manager/ 

 

QUESTION 5

You have a deployment of System Center Configuration Manager (Current Branch). 

You configure discovery. 

You have a query that returns all devices without the Configuration Manager client installed. You create a collection that
based on the query. 

You need to deploy the Configuration Manager client only to the members of the collection. 

Which deployment method should you use? 

A. a package deployment 

B. a software update point-based installation 

C. a manual client push installation 

D. a Group Policy installation 

Correct Answer: C 

References: https://docs.microsoft.com/en-us/sccm/core/clients/deploy/deploy-clients-to-windows-computers 

 

QUESTION 6

Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is
repeated in each question. Each question presents a different goal and answer choices, but the text of the scenario is 

exactly the same in each question in this series. 

Start of repeated scenario. 

You work for a company named ADatum Corporation. 

The ADatum network contains an Active Directory domain named adatum.com. 

You have a partner company named Contoso, Ltd. The Contoso network contains an Active Directory domain named
contoso.com. 

Latest 70-703 Dumps | 70-703 VCE Dumps | 70-703 Braindumps                              4 / 13

https://www.geekcert.com/70-703.html
https://www.geekcert.com/70-703.html
https://www.geekcert.com/70-703.html


https://www.geekcert.com/70-703.html
2022 Latest geekcert 70-703 PDF and VCE dumps Download

All the client computers at both companies run Windows 10. 

Each company has a deployment of System Center Configuration Manager (Current Branch). 

ADatum has sales and IT departments. ADatum has a collection for each department. 

Contoso has research, marketing, and human resources (HR) departments. Contoso has a collection for each
department. 

ADatum purchases Contoso. 

You configure on-premises mobile device management (MDM) in adatum.com. You enroll the client computers in the IT
department into on-premises MDM. 

You configure hybrid MDM in contoso.com. 

End of repeated scenario. 

You need to ensure that only managers at Contoso can enroll their computers into MDM. 

What should you do? To answer, select the appropriate options in the answer area. 

NOTE: Each correct selection is worth one point. 

Hot Area: 

Correct Answer: 
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QUESTION 7

You have a deployment of System Center Configuration Manager (Current Branch) that you use to manage devices on
the corporate network. 

You need to ensure that you can deploy software to Configuration Manager clients on the Internet. 

What should you deploy? 

A. a management point on a perimeter network and a cloud management gateway in Microsoft Azure 

B. a cloud management gateway and the Microsoft Azure Service for Cloud Management in Microsoft Azure 

C. a cloud-based distribution point in Microsoft Azure and a Microsoft Intune subscription 

D. a cloud-based distribution point and a cloud management gateway in Microsoft Azure 

Correct Answer: A 

References: https://docs.microsoft.com/en-us/sccm/core/clients/manage/cmg/plan-cloud-management-gateway 

 

QUESTION 8

You have a deployment of System Center Configuration Manager (Current Branch). 

Your company has a main office and a branch office. The branch office has five users. Some users use laptops and
some use desktop computers. 
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All the servers for the company are located in the main office. The branch office connects to the main office by using a
VPN over a DSL connection to the main office. You need to minimize the bandwidth used to deploy updates to branch
office clients over the VPN connection. The solution must minimize costs. 

A. a pull-distribution point 

B. a cloud management gateway 

C. BranchCache 

D. a cloud-based distribution point 

E. a software update point 

Correct Answer: C 

References: https://docs.microsoft.com/en-us/sccm/core/plan-design/hierarchy/design-a-hierarchy-of-sites 

 

QUESTION 9

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution that might meet the stated goals. Some question sets might have more than one correct solution,
while 

others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not
appear in the review screen. 

Your company has client computers that run either the 32-bit version of Windows 8 or the 64-bit version of Windows 10. 

You need to install a line-of-business application to the computers. The 64-bit version of the application must be
installed on the Windows 10 computers. 

Solution: Create one package that uses two programs. Configure a requirement for each program. 

Does this meet the goal? 

A. Yes 

B. No 

Correct Answer: B 

References: https://blogs.technet.microsoft.com/canitpro/2013/06/02/step-by-step-managing-multiple-versions-of-the-
same-application-via-system-center-configuration-manager/ 

 

QUESTION 10

You have a deployment of System Center Configuration Manager (Current Branch) that was implemented by a user
named Admin1. Configuration Manager includes the administrative users shown in the following table: 
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You add a boot image named Boot1 to Configuration Manager. You set the security scope of Boot1 to Scope1. Which
user can create a task sequence that uses Boot1? 

A. User2 

B. User5 

C. User7 

D. User6 

E. User8 

Correct Answer: D 

References: https://technet.microsoft.com/en-us/library/gg682108.aspx 

 

QUESTION 11

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution that might meet the stated goals. Some question sets might have more than one correct solution,
while 

others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not
appear in the review screen. 

Your company has client computers that run either the 32-bit version of Windows 8 or the 64-bit version of Windows 10. 

You need to install a line-of-business application to the computers. The 64-bit version of the application must be
installed on the Windows 10 computers. 

Solution: Create two applications that each has one deployment type. Configure a requirement for each deployment
type. 

Does this meet the goal? 
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A. Yes 

B. No 

Correct Answer: B 

References: https://blogs.technet.microsoft.com/canitpro/2013/06/02/step-by-step-managing-multiple-versions-of-the-
same-application-via-system-center-configuration-manager/ 

 

QUESTION 12

Your company has a main office and a branch office. The branch office connects to the main office by using a VPN over
DSL connection. 

The branch office contains 500 client computers that run Windows 8.1. All the computers are on the same subnet. 

You plan to upgrade the operating system on the computers by using Configuration Manager. During the upgrade
process, you will maintain the user state and the files. 

You need to recommend a solution to reduce the amount of WAN traffic during the operating system deployments. 

What two components should you include in the recommendation? Each correct answer presents part of the solution. 

NOTE: Each correct selection is worth one point. 

A. a cloud management gateway 

B. a distribution point 

C. a cloud-based distribution point 

D. a fallback status point 

E. a management point 

F. a state migration point 

Correct Answer: BE 

References: https://docs.microsoft.com/en-us/sccm/core/servers/deploy/configure/install-and-configure-distribution-
points 

 

QUESTION 13

Your company has offices in New York and Montreal. 

You manage all desktop computers by using System Center Configuration Manager (Current Branch). 

You need to perform the following tasks: 

Redirect the Documents folder to a network share for all the users in the New York office. 

In the Montreal office, configure all the computers that run Windows 10 Professional to run Windows 10 Enterprise. 
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What should you use in each office? To answer, drag the appropriate options to the correct offices. Each option may be
used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content. 

NOTE: Each correct selection is worth one point. 

Select and Place: 

Correct Answer:  

Latest 70-703 Dumps | 70-703 VCE Dumps | 70-703 Braindumps                             10 / 13

https://www.geekcert.com/70-703.html
https://www.geekcert.com/70-703.html
https://www.geekcert.com/70-703.html


https://www.geekcert.com/70-703.html
2022 Latest geekcert 70-703 PDF and VCE dumps Download

 

QUESTION 14

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution that might meet the stated goals. Some question sets might have more than one correct solution,
while 

others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not
appear in the review screen. 

You have a deployment of System Center Configuration Manager (Current Branch). 

You deploy the first primary site server to your organization. Discovery is not configured. 

You need to deploy the Configuration Manager client to five client computers in a workgroup. 

Solution: You configure client push installations. 

Does this meet the goal? 

A. Yes 

B. No 

Correct Answer: B 

References: https://docs.microsoft.com/en-us/sccm/core/clients/deploy/deploy-clients-to-windows-computers 
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QUESTION 15

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution that might meet the stated goals. Some question sets might have more than one correct solution,
while 

others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not
appear in the review screen. 

You have a deployment of System Center Configuration Manager (Current Branch). 

You configure hybrid mobile device management (MDM). 

You have a support technician named User1. 

Your company purchases 300 Apple iPhones. 

You need to ensure that User1 can enroll the iPhones. 

Solution: From Default Client Settings, you set an enrollment profile. 

Does this meet the goal? 

A. Yes 

B. No 

Correct Answer: B 

References: https://docs.microsoft.com/en-us/sccm/mdm/deploy-use/enroll-devices-with-device-enrollment-manager 
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